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. The quotient of (982 +30ab+25b%) +(—3a-5b)is

(i) (=4a-5b) (ii) (=3a-2b) (iii) (=3a—-7b) (iv) (=2a-5b) (v) (-3a-5b)

. The quotient of(25a2—50ab+25b2) +(5a-5b)is

(i) (6a—=5b) (ii) (4a-5b) (iii) (5a=3b) (iv) (5a-5b) (v) (5a—8b)

. The quotient of(a2—16b2) +(a—-4b)is

(i) (a+7b) (ii) (a+2b) (iii) (a+4b) (iv) (2a+4b) (v) 4b

. The quotient of (—125a3 +375a2b—375ab2+125b3) + (—5a+5b) is

(i) (243%-50ab+25b%) (ii) (26a2—50ab+25b2) (i) (25a2-50ab+25b%) (iv) (25a2—52ab+25b2)

(V) (2582—47ab+25b2)

. The quotient of (6483 +144a2b+108ab% +27b3) + (4a+3b)is

(i) (16a%2+26ab+9b2) (ii) (16a%2+22ab+9b%) (i) (17a2+24ab+9b%) (iv) (15a%2+24ab+9b%)

(v) (16a2+24ab+9b2)

. The quotient of (1682 —40ab—24ac+25b2+30bc+9c2) +(—4a+5b+3c) is

(i) (=3a+5b+3c) (ii) (-4a+3b+3c) (iii) (=5a+5b+3c¢) (iv) (-4a+5b+3c) (v) (—4a+8b+3c)

. The quotient of (~125a3 +64b3) + (—5a+4b) is

(i) (243%+20ab+16b%) (i) (25a2+20ab+16b2) (i) (25a2+17ab+16b%) (iv) (26a2+20ab+16b2)

(v) (25a82+23ab+16b2)

. The quotient of (—a3 +27b3) = (—a+3b) is

(i) (a%2+ab+9b2%) (i) (a2+3ab+9b2) (iii) (3ab+9b2) (iv) (2a%+3ab+9b2) (v) (a%2+6ab+9b2)

. The quotient of (6483 +96abc—64b3+8Cc3) + (4a—4b+2c)is

(i) (178%+16ab—8ac+16b%+8bc+4c?) (i) (16a%+16ab—8ac+16b%+8bc+4c?)
(ili) (16a2+18ab—8ac+16b2+8bc+4c?) (iv) (15a%+16ab—8ac+16b%+8bc+4c?)

(v) (16a2+14ab—8ac+16b2+8bc+4c?)
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If(4a—5b) XA =(16a2—40ab+25b%) ,then A =

(i) (5a—=5b) (ii) (4a-3b) (iii) (3a—5b) (iv) (4a—-7b) (v) (4a-5b)

If(5a—5b) XA =(25a2-50ab+25b2%) ,then A =

(i) (6a=5b) (ii) (5a=5b) (iii) (5a—2b) (iv) (4a-5b) (v) (5a-7b)

If(5a+5b) XA =(25a2—25b2) ,then A =

(i) (4a—5b) (ii) (5a=3b) (i) (5a—=7b) (iv) (5a=5b) (v) (6a—5b)

If(a—4b) XA =(a>—12a2b+48ab?—64b3) ,then A =

(i) (a2—-8ab+16b2) (i) (a®—11ab+16b2) (i) (2a2—8ab+16b2) (iv) (—8ab+16b2)

(v) (a2-5ab+16b2)

If(3a+5b) XA =(27a3+135a2b+225ab%+125b3) ,then A =

(i) (98%2+33ab+25b2) (i) (9a%2+27ab+25b%) (i) (8a2+30ab+25b2%) (iv) (10a%+30ab+25b%)

(v) (9a2+30ab+25b2)

If(4a—5b—c) XA =(16a%2—40ab—8ac+25b%2+10bc+c?) ,then A =

(i) (5a=5b—c) (ii) (4a—-2b—c) (i) (4a—T7b—c) (iv) (3a—-5b—c) (v) (4a-5b-c)

If(~5a+5b) XA =(—125a3 +125b3) ,then A =
(i) (26a%2+25ab+25b%) (i) (25a%2+22ab+25b2) (i) (25a2+28ab+25b%) (iv) (24a2+25ab+25b2)

(v) (2582 +25ab+25b2)

If(~5a—2b) XA =(—125a3—-8b3),then A =
(i) (25a%2—7ab+4b?) (ii) (25a%—10ab+4b?) (i) (24a2—10ab+4b2) (iv) (26a%2—10ab+4b?)

(v) (25a2—13ab+4b2)

If(4a—3b+3c) XA = (6433 +108abc—27b3+27c3) ,then A =

(i) (16a2+10ab—12ac+9b%+9bc+9c2) (ii) (16a%+15ab—12ac+9b%+9bc+9c?)
(ili) (16a82+12ab—-12ac+9b2+9bc+9c2) (iv) (17a%+12ab—12ac+9b%+9bc+9c2)

(v) (1582+12ab—-12ac+9b%+9bc+9c?)
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